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1. This paper consists of 40 Multiple

Choice Questions (M.C.Q.). All

questions are compulsory and carry

1 mark each. There is not negative

marking.

2. Each question has four alternative

responses marked (A), (B), (C) and

(D). You have to choose an

appropriate answer option and

mark it on the OMR sheet.

3. For marking answers on OMR

sheet, follow the detailed instructions

given on the OMR Sheet.
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egRoiw.kZ funsZ'k %

1. bl iz'u&i= esa 40 cgqfodYih; iz'u

gSaA lHkh iz'u vfuok;Z gSa o izR;sd iz'u 1

vad dk gSA xyr mÙkj ds fy, vad ugha

dkVs tk;saxsA

2. izR;sd iz'u ds pkj fodYi (A), (B),

(C) ,oa (D) fn, x, gSaA vkidks mi;qDr

mÙkj fodYi dk pquko dj mÙkj vks-,e-

vkj- izi= ij vafdr djuk gSA

3. vks-,e-vkj- izi= ij vius lgh mÙkj dks
fpfÊr djus ds fy, izi= ij vafdr funsZ'kksa
dk ikyu dhft,A

4. vks-,e-vkj- ij fpÊ yxkus ds fy, dsoy
uhyh ;k dkyh ckWy IokWbUV iSu dk gh
bLrseky dhft,A

Total Pages-16



A–1305 SECIT-01/16 ( 2 ) P.T.O.



A–1305 SECIT-01/16 ( 3 ) P.T.O.

1. What is the output of the following

code ?

int x = 10;

int y = x++;

printf("%d %d", x, y);

(A) 11 10

(B) 10 10

(C) 11 11

(D) Compilation Error

2. Which statement about loops is

correct ?

(A) The for loop is suitable only

for a fixed number of

iterations.

(B) The while loop is useful when

the number of iterations is not

known.

(C) In the do-while loop, the loop

executes at least once before

checking the condition.

(D) All of the above

3. Which function is used to write a

single character to the output ?

(A) putchar()

(B) puts()

(C) printf()

(D) putc()

1. fuEufyf[kr dksM dk vkmViqV D;k gS \

int x = 10;

hit y = x++;

printf("%d %d", x, y);

(A) 11 10

(B) 10 10

(C) 11 11

(D) daikby =qfV

2. ywi ls lEcfU/kr dkSu lk dFku lgh gS \

(A) for ywi dsoy fuf'pr iqujko`fÙk

ds fy, miq;Dr gS

(B) while ywi rc mi;ksx gksrk gS tc

iqjko`fÙk dh la[;k Kkr u gks

(C) do-while ywi esa 'krZ psd djus ls

igys ywi de ls de ,d ckj

pyrk gS

(D) mijksDr lHkh

3. vkmViqV ij ,d dSjsDVj fy[kus ds fy,

dkSu lk QaD'ku mi;ksx fd;k tkrk gS \

(A) putchar()

(B) puts()

(C) printf()

(D) putc()
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4. How many bytes does int occupy

in a 32-bit architecture ?

(A) 2

(B) 4

(C) 8

(D) 1

5. Which keyword is used to allocate

memory dynamically in C ?

(A) malloc

(B) free

(C) static

(D) pointer

6. What is the output of the following

code ?

#include <math.h>

printf("%.2f", ceil(4.2));

(A) 4.00

(B) 5.00

(C) 4.20

(D) Error

7. Which header file is required for

string manipulation functions in

C ?

(A) stdio.h

(B) string.h

(C) stdlib.h

(D) conio.h

4. 32-fcV vk£dVsDpj esa int fdrus ckbV~l

?ksjrk gS \

(A) 2

(B) 4

(C) 8

(D) 1

5. C esa Mk;ukfed eseksjh vkoafVr djus ds
fy, dkSu lk dhoMZ mi;ksx fd;k tkrk
gS \

(A) malloc

(B) free

(C) static

(D) pointer

6. fuEufy[kr dksM dk vkmViqV D;k gksxk \

#include <math.h>

printf("%.2f", ceil(4.2));

(A) 4.00

(B) 5.00

(C) 4.20

(D) =qfV

7. C esa fLVaªx gsjQsj QaD'ku ds fy, dkSulk

gsMj Qkby vko';d gS \

(A) stdio.h

(B) string.h

(C) stdlib.h

(D) conio.h
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8. Which function reverses a string

in C ?

(A) strrev()

(B) strlen()

(C) strcmp()

(D) strcat()

9. Which function is used to

concatenate two strings ?

(A) strcat()

(B) strlen()

(C) strcmp()

(D) strcpy()

10. What does calloc() do differently

compared to malloc() ?

(A) Allocates contiguous blocks

of memory and initializes

them to zero

(B) Allocates a single block of

memory but leaves it

uninitialized

(C) Allocates memory for arrays

only

(D) Allocates more memory than

requested

8. C esa dkSu lk QaD'ku ,d fLVªax dks myVrk

gS \

(A) strrev()

(B) strlen()

(C) strcmp()

(D) strcat()

9. nks fLVªaXl dks tksM+us ds fy, dkSu lk

Q+aD'ku mi;ksx fd;k tkrk gS \

(A) strcat()

(B) strlen()

(C) strcmp()

(D) strcpy()

10. calloc() vkSj malloc() esa eq[; varj

D;k gS ?

(A) lekukarj CykWDl vkoafVr djrk gS

vkSj mUgsa 'kwU; ij lsV djrk gS

(B) ,d CykWd eseksjh vkoafVr djrk gS

ysfdu bls vfufuf'k;ykbt NksM+

nsrk gS

(C) dsoy ,sjs ds fy, eseksjh vkoafVr

djrk gS

(D) ekaxs x, ls vf/kd eseksjh vkoafVr

djrk gS
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11. Can you determine the length of an

array within the function it is passed

to ?

(A) Yes, always.

(B) No, only the pointer is

received.

(C) Yes, if sizeof is used.

(D) No, unless the size is explicitly

passed as an argument.

12. What does the following statement

do ?

int *ptr = calloc(10, sizeof(int));

(A) Allocates memory for 10

integers and initializes them

to zero

(B) Allocates memory for 10

integers without initialization

(C) Allocates memory for a single

integer

(D) Causes a runtime error

13. Which string function converts a

string to uppercase ?

(A) strupr()

(B) strlwr()

(C) strlen()

(D) strrev()

11. D;k vki ml QaD'ku esa ikl fd, x, ,sjs

dh yEckbZ fu/kkZfjr dj ldrs gSa \

(A) gk¡] ges'kk

(B) ugha] dsoy ikWbUVj izkIr gksrk gS

(C) gk¡] ;fn sizeof dk mi;ksx fd;k

x;k gks

(D) ugha] tc rd vkdkj dk s Li"V

:i ls ,d vkxwZesaV ds :i esa ikl

u fd;k tk,

12. fuEufyf[kr dFku D;k djrk gS \

int *ptr = calloc(10, sizeof(int));

(A) 10 iw.kk±dksa ds fy, eseksjh vkoafVr

djrk gS vkSj mUgsa 'kwU; ij lsV

djrk gS

(B) 10 iw.kk±dksa ds fy, eseksjh vkoafVr

djrk gS fcuk bfuf'k;ykbts'ku ds

(C) ,d iw.kk±d ds fy, eseksjh vkoafVr

djrk gS

(D) juVkbe =qfV mRiék djrk gS

13. dkSu lk fLVªax Q+aD'ku fLVªax dks vijdsl

esa cnyrk gS \

(A) strupr()

(B) strlwr()

(C) strlen()

(D) strrev()
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14. What will happen if a pointer is

dereferenced without initialization ?

(A) The program will crash

(B) It will access a random

memory location

(C) Compilation error

(D) None of the above

15. Which of the following is a valid

way to declare a function accepting

a 1-D array ?

(A) void func(int arr[]);

(B) void func(int *arr);

(C) void func(int arr[10]);

(D) All of the above

16. What will be the output of the

following code ?

char str1[10] = "Hello";

char str2[10];

strcpy(str2, str1);

printf("%s", str2);

(A) Hello

(B) str2

(C) Compilation error

(D) Garbage value

14. ;fn ,d ikWbUVj dks fcuk buhf'k;ykbt

fd, fMjsQjsal fd;k tk, rks D;k gksxk \

(A) dk;ZØe ØS'k gks tk,xk

(B) ;g ,d ;kn`fPNd eseksjh yksds'ku

rd igqapsxk

(C) daikby =qfV

(D) mijksDr esa ls dksbZ ugha

15. fuEufyf[kr esa ls dkSu 1-D ,sjs dks Lohdkj

djus okys Q+aD'ku dks ?kksf"kr djus dk

,d ekU; rjhdk gS ?

(A) void func(int arr[]);

(B) void func(int *arr);

(C) void func(int arr[10]);

(D) mijksDr lHkh

16. fuEufyf[kr dksM dk vkmViqV D;k gksxk \

char str1[10] = "Hello";

char str2[10];

strcpy(str2, str1);

printf("%s", str2);

(A) Hello

(B) str2

(C) daikby =qfV

(D) xkjcst oSY;q
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17. What is the purpose of fflush(stdin)

in C ?

(A) Clears the input buffer.

(B) Clears the output buffer.

(C) Flushes the console.

(D) Terminates the program.

18. What is the default value of a

pointer in C if not initialized ?

(A) 0

(B) NULL

(C) Undefined

(D) –1

19. What happens if the base address

of an array is modified within a

function ?

(A) The original array is affected.

(B) Only the copy is affected.

(C) Compilation error.

(D) Undefined behavior.

20. Which function is used to calculate

the power of a number ?

(A) pow()

(B) exp()

(C) log()

(D) sqrt()

17. C esa fflush(stdin) dk mís'; D;k gS \

(A) buiqV cQ+j lkQ djrk gSA

(B) vkmViqV cQ+j lkQ djrk gSA

(C) dalksy ¶y'k djrk gSA

(D) dk;ZØe lekIr djrk gSA

18. C esa] ;fn ikWbaVj izkjaHk ugha fd;k x;k gS]

rks bldh fMQkWYV eku D;k gksrh gS \

(A) 0

(B) NULL

(C) vifjHkkf"kr

(D) –1

19. ;fn ,sjs ds csl ,Mªsl dks Q+aD'ku ds vanj

la'kksf/kr fd;k tkrk gS rks D;k gksrk gS \

(A) ewy ,sjs izHkkfor gksrk gSA

(B) dsoy izfr izHkkfor gksrh gSA

(C) daikby =qfVA

(D) vifjHkkf"kr O;ogkjA

20. fdl Q+aD'ku dk mi;ksx fdlh la[;k dh

?kkr dh x.kuk ds fy, fd;k tkrk gS \

(A) pow()

(B) exp()

(C) log()

(D) sqrt()
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21. Which of the following is a correct

use of scanf() ?

(A) scanf("%d", &var);

(B) scanf("%d", var);

(C) scanf("%d" &var);

(D) scanf("%d var");

22. Which function is used to find the

length of a string ?

(A) strlen()

(B) strcpy()

(C) strcmp()

(D) strcat()

23. Which of the following is the

correct syntax for passing an array

to a function ?

(A) void func(int arr[]);

(B) void func(int *arr);

(C) Both (A) and (B) are valid

(D) None of the above

24. What happens if you free a pointer

that is already freed ?

(A) Undefined behavior

(B) Memory is freed again

(C) Compilation error

(D) Program terminates safely

21. fuEufyf[kr esa ls dkSu lk scanf() dk

lgh mi;ksx gS \

(A) scanf("%d", &var);

(B) scanf("%d", var);

(C) scanf("%d" &var);

(D) scanf("%d var");

22. fLVaªx dh yackbZ tkuus ds fy, dkSu lk

Q+aD'ku mi;ksx fd;k tkrk gS \

(A) strlen()

(B) strcpy()

(C) strcmp()

(D) strcat()

23. ,sjs dks Q+aD'ku esa ikl djus dk lgh

flaVSDl D;k gS \

(A) void func(int arr[]);

(B) void func(int *arr);

(C) (A) vkSj (B) nksuksa ekU; gSa

(D) mijksDr esa ls dksbZ ugha

24. ;fn vki ,d ikWbUVj dks fQj ls Ýh
djrs gSa ftls igys gh eqDr dj fn;k x;k
gS] rks D;k gksrk gS \

(A) vifjHkkf"kr O;ogkjA

(B) eseksjh fQj ls eqDr gks tkrh gSA

(C) daikby =qfVA

(D) dk;ZØe lqjf{kr :i ls lekIr gks
tkrk gSA
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25. realloc() Q+aD'ku dSls dke djrk gS \

(A) igys ls vkoafVr eseksjh CykWd dk

vkdkj cnyrk gSA

(B) eseksjh eqDr djrk gSA

(C) ,d u;k eseksjh CykWd vkoafVr djrk

gSA

(D) eseksjh dks 'kwU; ij lsV djrk gSA

26. fuEufyf[kr esa ls dkSu 2D ,sjs dks Q+aD'ku

esa lgh <ax ls ikl djrk gS \

(A) void func(int arr[][10]);

(B) void func(int arr[10][10]);

(C) void func(int (*arr)[10]);

(D) mijksDr lHkh

27. C esa sqrt() ;ks log() tSls xf.krh; Q+aD'ku

dk fjVuZ izdkj D;k gS \

(A) int

(B) float

(C) double

(D) long double

28. C esa Mk;ukfed eseksjh ,yksds'ku QaD'kUl

ds fy, dkSulk gsMj Qkby vko';d

gS \

(A) stdio.h

(B) stdlib.h

(C) math.h

(D) string.h

25. How does realloc() function work ?

(A) Changes the size of previously

allocated memory block

(B) Frees the memory

(C) Allocates a new memory

block

(D) Initializes memory to zero

26. Which of the following correctly

passes a 2D array to a function ?

(A) void func(int arr[][10]);

(B) void func(int arr[10][10]);

(C) void func(int (*arr)[10]);

(D) All of the above

27. What is the return type of

mathematical functions like sqrt()

or log() in C ?

(A) int

(B) float

(C) double

(D) long double

28. Which header file is required for

dynamic memory allocation

functions in C ?

(A) stdio.h

(B) stdlib.h

(C) math.h

(D) string.h
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29. What will happen if you use strlen()

on a string that has no null-

terminator ?

(A) It will calculate the correct

length

(B) It will return 0

(C) Undefined behavior

(D) Compilation error

30. What will be the output of the

following code ?

int x = 5;

void increment() {

static int y = 0;

y++;

printf("%d", y);

      }

increment();

  increment();

   increment();

(A) 1 1 1

(B) 1 2 3

(C) 5 5 5

(D) Compilation Error

29. ;fn vki fdlh fLVªax ij strlen() dk

mi;ksx djrs gSa ftlesa dksbZ uy&V£eusVj

ugha gS] rks D;k gksxk \

(A) ;g lgh yackbZ dh x.kuk djsxk

(B) ;g 0 ykSVk,xk

(C) vifjHkkf"kr O;ogkj

(D) daikby =qfV

30. fuEufyf[kr dksM dk vkmViqV D;k gksxk \

int x = 5;

void increment() {

static int y = 0;

y++;

printf("%d", y);

      }

increment();

  increment();

   increment();

(A) 1 1 1

(B) 1 2 3

(C) 5 5 5

(D) daikby =qfV
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31. What is the result of the bitwise

operation 5 & 3 ?

(A) 5

(B) 3

(C) 1

(D) 7

32. How do you declare a function

pointer in C ?

(A) int (*funcPtr)(int, int);

(B) int funcPtr(*)(int, int);

(C) int *funcPtr(int, int);

(D) None of the above

33. Which of the following is not a

valid storage class in C ?

(A) auto

(B) register

(C) dynamic

(D) static

34. Which of the following is a valid

function prototype in C ?

(A) int function();

(B) function int();

(C) int function(int a, b);

(D) None of the above

31. 5 & 3 fcVokbt vkWijs'ku dk ifj.kke

D;k gksxk \

(A) 5

(B) 3

(C) 1

(D) 7

32. C esa Q+aD'ku ikWbaVj dSls ?kksf"kr fd;k

tkrk gS \

(A) int (*funcPtr)(int, int);

(B) int funcPtr(*)(int, int);

(C) int *funcPtr(int, int);

(D) mijksDr esa ls dksbZ ugha

33. fuEufyf[kr esa ls dkSu lk C esa oS/k LVksjst

Dykl ugha gS \

(A) auto

(B) register

(C) dynamic

(D) static

34. fuEufyf[kr esa ls dkSu lk C esa ,d ekU;

Q+aD'ku izksVksVkbi gS \

(A) int function();

(B) function int();

(C) int function(int a, b);

(D) mijksDr esa ls dksbZ ugha
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35. What is the correct syntax to declare

a pointer to a function in C ?

(A) int (*ptr)()

(B) int *ptr()

(C) int *(ptr)()

(D) Both (A) and (C)

36. What does the function strcmp()

return if two strings are equal ?

(A) 0

(B) 1

(C) –1

(D) Undefined

37. Which header file contains the exit()

function ?

(A) stdio.h

(B) stdlib.h

(C) string.h

(D) conio.h

35. C esa ,d Q+aD'ku ds fy, ,d lwpd

?kksf"kr djus dk lgh flaVSDl D;k gS \

(A) int (*ptr)()

(B) int *ptr()

(C) int *(ptr)()

(D) (A) vkSj (C) nksuksa

36. ;fn nks fLVªaXl leku gkas rks strcmp()

Q+aD'ku D;k ykSVkrk gS \

(A) 0

(B) 1

(C) –1

(D) vifjHkkf"kr

37. exit() QaD'ku fdl gsMj Qkby esa

gS \

(A) stdio.h

(B) stdlib.h

(C) string.h

(D) conio.h
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38. Which operator is used to access

members of a structure through a

pointer ?

(A) . (dot)

(B) -> (arrow)

(C) * (asterisk)

(D) & (ampersand)

39. What is the purpose of the continue

statement in C ?

(A) To exit a loop

(B) To skip the current iteration

(C) To stop the program

(D) To restart the loop

40. What will be the output of the

following code ?

#include<stdio.h>

int main( ) {

char ch= 'A';

printf("%d", ch);

return 0;

}

(A) 65

(B) 'A'

(C) Compiler error

(D) 97

38. lajpuk ds lnL;ksa rd igqapus ds fy,

dkSulk vkWijsVj mi;ksx fd;k tkrk gS \

(A) . (dot)

(B) -> (arrow)

(C) * (asterisk)

(D) & (ampersand)

39. C esa continue LVsVesaV dk mís'; D;k

gS \

(A) ywi ls ckgj fudyus ds fy,

(B) orZeku iqujko`fÙk dks NksM+us ds fy,

(C) dk;ZØe dks jksdus ds fy,

(D) ywi dks iqujkjaHk djus ds fy,

40. fuEufyf[kr dksM dk vkmViqV D;k gksxk \

#include<stdio.h>

int main( ) {

char ch= 'A';

printf("%d", ch);

return 0;

}

(A) 65

(B) 'A'

(C) Compiler error

(D) 97
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Rough Work/jQ dk;Z
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